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O x+(x+1)+ (x+2) =57
@ (x=1)+x+ (x+1) =57
® (x-2)+x+(x-1)=57
@ x+2x+4x =57

® x4+ (x+2)+ (x+4) =57
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O x+y=25 @ x+(x+1)=25
® x+2x=25 @ x=2x

B) x4+ 925 = 2x
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® 10x+4 =40+ x+9
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@ 2x+x=10x+2x+ 18
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@ 10x+x+18=x+10
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@ 2700 — x = 4000 — x

O 2700 — x = 2 x 2000

@ 2700 — x = 2(2000 - x)

® 2700 — x = 2000 — x
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@ (7300 + 120)x = (3400 + 250)x
@ 7300 + 3400 = 2x
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@ 4000 + 1000x = 10000 + 500x
@ 4000x + 1000 = 10000x + 500

® 4000x + 1000x = 10000x + 500x
@ (4000 + 1000)x = (10000 + 500)x

® 4000 + 10000 = x



75 AEE A2 4225, 6454 /A3 9lek. Fol Sl
1710 A o] 47} SA30] 1 Ame] 4o

o 227G Folo} 51717

© 47 @ 5 A% ® 6 AT

@ 12 A= 3 36 A=



18.

o sk o] AR shA 57 Akafels W gste] 800 el glc.
e el Adslel Hs) deHL 5 %S Tksta Slse 3 %
Fastel AAMOR sHo] Hek 2 do £ vet T o, x

@ 0.05x-0.03(800-x) =8 @ 0.95x+0.97(800 — x) = 8
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® 0.05x + 0.03(800 — x) = 8
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